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Guess Paper – 2009

Class – XII

Subject – Computer Science    

Marks : 70






Time 
:3.00Hrs.

Instructions :

1. All questions are compulsory.

2. Programming language : C++

1.a
What is the use of static data members. Explain with an example.


2
b.
Name the header files that shall be needed for the following code:


1
class base

 {

   public:

      virtual void string ()

       {


   int FLOAT;


   FLOAT = isdigit(sizeof(int));


   cout << endl << " Base function " << FLOAT ;

       }

 };

class BASE : public base

 {

   public:


void string()


  {


      float INT;


      INT = ceil(sqrt(pow(11.8,2)));


      cout << endl << " BASE function " << INT;


  }

 };

void main()

{

   char str[] = "String";

   char *STR = strstr(str,"ing");

   base *a, A;

   BASE b;

   a = &A;

   a->string();

   a = &b;

   a->string();

   cout << endl << char(tolower(str[0])) << setw(strlen(str)) 
<< char(toupper(STR[0]));

   getch();

}
c.
Rewrite the following program after removing the syntax error(s), if any. Underline each correction.
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# include <fstream.h>

# include <conio.h>

# include <ctype.h>

float x,y,z,res;

inline float sum (float a, float b);
{

   res = a+b;

   return res;

}

float diff (inline float a, inline float b)

void main ()

{

  x = 22.6;

  y = 11.2;

  z = sum (x,y);

  cout << setprecision(x/y) << z << endl;

  z = diff (x,y);

  cout << setprecise(1) << z << endl;

  getch();

}

float diff (float a, float b)

{

  res = a - b;

  return res;

}
d.
Find the output of the following program:
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# include <iostream.h>

# include <conio.h>

# include <ctype.h>

# include <string.h>

void upper (char *ch)

 {    *ch = char(toupper(*ch));  }

void lower (char *ch)

 {    *ch = char (tolower(*ch));  }

void change (char *ch)

{   *ch = '#'; }

void next_char (char *ch, int i)

 {     *ch = *ch+i;  }

void next_char (char *ch)

 {    ++*ch;  }

void main ()

 { char c;

   char email[ ] ="RIQR : 1133 Gole";

   int i = 0;

   while (i < strlen(email))

   {


 if ( isdigit(email[i]))


     if (i%2==0)



email[i]++;


 if ( ! isalnum (email[i]) && !isspace(email[i]) )


     email[i] = '!';


 if ((isalpha(email[i])) && (i%2==0)  )


 {


       c = email[i];


       upper(&c);


       email[i] = c;


 }


 if ( isspace(email[i]))


 {


       c = email[i];


       change(&c);


       email[i] = c;


 }


 if ( isupper(email[i]))


 {


       c = email[i];


       next_char(&c);


       if (i%2==1)


       lower(&c);


       email[i] = c;


 }

   i++;

   }

   cout << endl << email ;

   getch();

 }

e.
Find the output of the following program:
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# include <iostream.h>

# include <conio.h>

struct revision

{

  int chapter;

  int marks;  };

void main ()

{

  clrscr();

  revision *multimedia, computer[] = { 1,12, 4, 4};

  for (int i =0; i<2; i++)

   {

     cout << endl << computer[i].chapter;

     cout << " : " << computer[i].marks;

   }

   multimedia = computer;

   multimedia++;

   cout << endl << multimedia->chapter;

   cout << " : " << multimedia->marks;

   multimedia--;

   multimedia->chapter ++;

   multimedia->marks --;

   for (i=0; i<2; i++)

   {

     cout << endl << computer[i].chapter;

     cout << " : " << computer[i].marks;

   }

  getch();

}

f.
In the following program, find the correct possible output(s) from the options: 
2

# include <iostream.h>

# include <conio.h>

# include <stdlib.h>

void main ()

{

  char serial[] = {'A', 'B', 'C', 'D'};

  int number[] = { 2, 6, 7, 3};

  clrscr();

  randomize();

  cout << " The winner is : ";

  cout << serial [random(3)];

  for (int i = 0; i < 4; i++)

     cout << number[sizeof(int) + random(2) - 1 ];

  getch();

}

outputs:

(i)
The winner is : A2776
(ii)
The winner is : D6766
(iii) 
The winner is : B6767
(iv) 
The winner is : C3672
2.a.
Explain this pointer with suitable example.
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b.
Answer the questions (i)and (ii)after going through the following program: 

2

# include <iostream.h>

# include <conio.h>

# include <string.h>

class Life

{

  char *name;

  double balance;

 public:

  Life ()            //  Function 1

   {

     strcpy (name, "Mr.");

     balance = 0.0;

     cout << endl << " First Stage ";

   }

  Life (char *Name)    // Function 2

   {

     strcat (name,Name);

     balance = 0.0;

     cout << endl << " Second Stage ";

   }

  Life (char *Name, double Bank = 3000.00) // Function 3

   {

     strcpy (name, Name);

     balance = Bank;

     cout << endl << " Third Stage ";

   }

  Life (Life &New)   // Function 4

   {

     strcpy (name, New.name);

     balance = New.balance + 3000;

     cout << endl << " Fourth Stage ";

   }

  ~Life()  // Function 5

   {

     cout << endl << " Destructor ";

   }

  void life () // Function 6

   {

     cout << endl << name << " : " << balance ;

   }

 };

 void main ()

 {

  clrscr();

  Life begins;

//Life grows (" happy ");    Error statement 1;

  Life matures (" with money " , 10000000 );

  Life married (matures);

  married.life();

  getch();

 }

i.
State the reasons for Error statement 1 in the above code.



½ 
ii.
What will be the output for this program?






½
iii.
Which concept of OOP concept is implemented through function 1 to 4?

½

iv.
State the concept implemented through function 4 and function 5.


½ 
c.
Define a class Rural_Games in C++ with the following descriptions:

4

Private Members:



Game


for name of the game


No_of_Participants
for number of participants

Participants

for name of the participants

Standard

for storing the participant class



Position

for recording the position



Points


for assigning the points based on position


Public Members:


A constructor to assign appropriate values for the members.



Get_Data () to read the values for Name of the game, number of participants 

and all their names, class of study and position.

Assign_Points () to assign values based on the following condition

	Position
	Points

	I
	7

	II
	5

	III
	3


If number of participants is more than 7, then points for each position will be doubled.

Show_Data() to show the values of Game, Standard and Points.

d.
Answer the questions (i) to (iv) based on the following code: 



4

# include <iostream.h>

# include <conio.h>

struct client

{

   char name[20];

   char country[20];

   int no_of_workers;

   double revenue;

};

class software_company

{

   private:


char name[20];


char promotor[20];


double investment;


double profit;

   public:


long no_of_employees;


double total_salary;


void assign_profit();


void publish_revenue();

};

class hardware_company

{

   private:


char name[10];


double invest;

   public:


int engineers;


double turnover;


void return_on_investment();


void logistics_value();

};

class bpo_arm : public software_company

{

  private :


client insurance [20];


client customer_care[10];

  public:


void get_data();


void bpo_revenue();

  protected :


double profit;


void assign_commission();

};

class ites_arm : public software_company, hardware_company

{

  private :

       int head_count;

       int calls_per_day;

  public :

       long log_register;

       void show_calls();

  protected :

       long pending_collection;

       void bad_debt();

};

i. Which type of Inheritance is implemented in bpo_arm and ites_arm classes?
ii. How many bytes will be required by an object of the class bpo_arm and hardware_company ?
iii. Write the members accessible from assign_commission () of bpo_arm.
iv. Write the member functions accessible by the object of class ites_arm.
3.a
Write a function in C++, which accepts the size of an integer array and its elements. which is constituted of single digits and create a two dimensional array that stores the number in the first column, the rest of the columns are filled with ‘<’ and ‘*’ characters. ‘<’ symbols should be repeated depending upon the value of digits in a single dimensional array, rest of the cells in that row have be filled with ‘*’ symbol.

Example : 
If a single dimensional array consists of 4, 2, 6, 3, 8, 2, 7 

then the output will be as follows:
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b.
An array A[10][20] is stored in the memory with each element requiring 2 bytes of storage. If the base address of array in the memory is 400, determine the location of A[8][13] when the array is stored as (i) Row major (ii) Column major


4
c.
Write the complete definition for the member functions count_balls() and total_score() in the following program.





  
4
# include <iostream.h>

# include <conio.h>

struct SCORE

 {

   int runs;

   SCORE *next;

 };

class team

 {

   private:

     SCORE *start;

     int number_of_balls;

     int total_runs;

   public:

     team ()

      {

       number_of_balls = 0;

       total_runs = 0;

      }

     void get_runs();

     void count_balls();

     void total_score();

 };

void team :: get_runs()

 {

   SCORE *score_card, *current;

   int run;

   start = NULL;

   score_card = NULL;

   cout << endl << " Enter the run secured : ";

   cin >> run;

   while ( run != -1)

   {

     current = new SCORE;

     current->runs = run;

     current->next = NULL;

     if (start == NULL)


 start = current;

     else


 score_card->next = current;

     score_card = current;

     cout<<endl<<" Enter the run (to terminate press -1 ) ";

     cin >> run;

   }

 }

void team :: count_balls()

 {


……………………


:


:


……………………

    cout << endl << " Balls faced : " << number_of_balls;

 }

void team :: total_score()

{


……………………


:


……………………

  cout << endl << " Final Score : "<< total_runs;

}

void main()

{

 clrscr();

 team x;

 x.get_runs();

 x.count_balls();

 x.total_score();

 getch();

}

d.
Write a function in C++ to store values of a two dimensional array into two different arrays based on the limit passed by the user along with a two dimensional array and its sizes. 

Example: if the two dimensional array contains
	12
	43
	23

	22
	55
	62

	52
	48
	88

	25
	43
	75


If the limit for first array is : 50

Then output will be as follows:

Elements of the first array :


12
43
23
22
48
25
43

Elements of the second array :


55
62
52
88
75

e.
Convert  A + ( B * C – ( D / E ^ F ) * G ) * H into postfix form showing stack status after every step in tabular form.
4.a
Observe the program segment given below carefully, and answer the question that follows:


struct date

 {

   int day;

   int month;

   int year;

 };

date zero = {1,1, 1900};

class sports_meet

{

 private:

  int chest_no;

  char name[20];

  date date_of_birth;

  date date_of_eligibility;

  char event[10];

  int position;

  int points;

 public:

  sports_meet()

  {

   chest_no=0;

   strcpy(name, "Athlete");

   date_of_birth = zero;

   date_of_eligibility = zero;

   strcpy(event, "None");

   position = 0;

   points = 0;

  }

   int return_chest_no()

    {

      return chest_no;

    }

   void get_details();

   void show_details();

   void update_details();

 };

 void search_details (int ch_no)

  {

   ifstream fin;

   fin.open ("cbse.dat", ios::binary | ios::in);

   sports_meet participant;

   int found = 0;

   while (…………………………………………………… ) // statement 1
   {

      if ( ch_no == participant.return_chest_no() )


{


  cout << " The details of participants : "<< endl;


  participant. ………………………………………………; // statement 2

  found = 1;


}

   }

   if (found == 0 )

      cout << "  Record not found ";

   fin.close();

  }

Write Statement1 and Statement 2 for in the above code.



1
b.
Write a function in C++ to count the number of uppercase letters and number of blank spaces present in a text file "III_Revision.txt".




2

c.
Write a function in C++ to add new objects at the bottom of a binary file “STUDENT.DAT”, assuming the binary file is containing the objects of the following class.
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class STUD


{



int Rno;



char Name[20];


public:



void Enter(){cin>>Rno;gets(Name);}



void Display(){cout<<Rno<<Name<<endl;}


};


void Addnew()


{



fstream FIL;



FIL.open(“STUDENT.DAT”,ios::binary|ios::app);



STUD S;



char CH;



do



{




S.Enter();




FIL.write((char*)&S,sizeof(S));




cout<<”More(Y/N)?”;cin>>CH;



}



while(CH!=’Y’);



FIL.close();


}

5.a
Differentiate between Degree and Cardinality in context of RDBMS.


2
b.
Consider the following tables GAMES and PLAYER. Write SQL commands for the statements (i) to (iv) and give outputs for SQL queries (v) to (viii)


6

Table: GAMES

	GCode
	GameName
	Number
	PrizeMoney
	ScheduleDate

	101
	Carom Board
	2
	5000
	23-Jan-2004

	102
	Badminton
	2
	12000
	12-Dec-2003

	103
	Table Tennis 
	4
	8000
	14-Feb-2004

	105
	Chess
	2
	9000
	01-Jan-2004

	108
	Lawn Tennis
	4
	25000
	19-Mar-2004


Table: PLAYER

	PCode
	Name
	Gcode

	1
	Nabi Ahmad
	101

	2
	Ravi Sahai
	108

	3
	Jatin 
	101

	4
	Nazneen
	103



(i)
To display the name of all Games with their Gcodes

(ii)
To display details of those games which are having PrizeMoney more than 7000. 

(iii)
To display the content of the GAMES table in ascending order of ScheduleDate.

(iv) 
To display sum of PrizeMoney for each of the Number of participation groupings (as shown in column Number 2 or 4)

(v) SELECT COUNT(DISTINCT Number) FROM GAMES;


(vi)
SELECT MAX(ScheduleDate),MIN(ScheduleDate) FROM GAMES;


(vii)
SELECT SUM(PrizeMoney) FROM GAMES;


(viii) 
SELECT DISTINCT Gcode FROM PLAYER;

6.a
State and algebraically verify Absorption Laws.





2

b
Write the equivalent Boolean Expression for the following Logic Circuit

2


c.
Write the SOP form of a Boolean function G, which is represented in a truth table as follows:










1

	P
	Q
	R
	G

	0
	0
	0
	0

	0
	0
	1
	0

	0
	1
	0
	1

	0
	1
	1
	0

	1
	0
	0
	1

	1
	0
	1
	0

	1
	1
	0
	1

	1
	1
	1
	1


d. Reduce the following Boolean Expression using K-Map:



3

F(U,V,W,Z)=((0,1,2,4,5,6,8,10)

7.a.
Define the term Bandwidth. Give unit of Bandwidth.




1

b. 
Expand the following terminologies:






1

(i)
HTML



(ii) XML

c.
Define the term firewall.








1

d.
What is the importance of URL in networking?





1

e.
Ravya Industries has set up its new center at Kaka Nagar for its office and web based activities. The company compound has 4 buildings as shown in the diagram below:







Center to center distances between various buildings is as follows:

	Harsh Building to Raj Building
	50 m

	Raz Building to Fazz Building
	60 m

	Fazz Building to Jazz Building
	25 m

	Jazz Building to Harsh Building
	170 m

	Harsh Building to Fazz Building
	125 m

	Raj Building to Jazz Building
	90 m




Number of Computers in each of the buildings is follows:
	Harsh Building 
	15

	Raj Building
	150

	Fazz Building
	15

	Jazz Bulding
	25


e1)
Suggest a cable layout of connections between the buildings.


1

e2)
Suggest the most suitable place (i.e. building) to house the server of this organisation with a suitable reason.






1
e3)
Suggest the placement of the following devices with justification:


1

(i) Internet Connecting Device/Modem

(ii) Switch

e4)
The organisation is planning to link its sale counter situated in various parts of the same city, which type of network out of LAN, MAN or WAN will be formed? Justify your answer.








1
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